[ number of missing inner layers |

<hits>vs n

Ratio

107}

1

Entries 17661
: Mean 0.1512
: Std Dev 0.362
T Entries 17718
: Mean 0.1511
. Std Dev 0.3619
: Entries 17719
: Mean 0.1513
: Std Dev 0.362
-
R S [ T
L

[ number of missing outer layers |

107}

1072

1073

10

1g

Entries 17661
Mean 1.358
Std Dev 2.156
: I
Entries 17718
Mean 1.363
Std Dev 2.161
Entries 17719
Mean 1.424
Std Dev 2.237
....... Teeeeeees

m—— DQM_mKkFit_baseline
== DQM_mkFit_baseline6iter
— DQM_mKkFit_TT_RetrainV2_WP2_6iter_ep3

g
%3 e R |

10°

10?

10

—| Entries 17661
*l Mean 13.08
Std Dev 5.298
Toiiriiigiiiii]
Entrie: 17718
Mean 13.08
istd Dev 5.303
Entries 17719
Mean 13.07
Std Dev

0.95

5 10 15 20 25 30 35 40

track hits

Entries 18063
Mean 2.672
F Std Dev 5.493
F : |
5 Entries 18123
Mean 2.668
Std Dev 5.485
: I
Entries 18079
Mean 2.698
Std Dev 5.468
r . 4+ [+ H
L | |l TH T4 :
L 1 B
U= - 2 ; 14 = = SEEEREE
TR
L . 4 H
1 3
10 1 10 10 10



	Contents
	Page 1


